FOO05MERR—YVIRRS LER
T29F1HA30H
I ATEEABRRR—VIEE 4 —

AR YR BB IR D4 B
%90 5EAR—VIRHE T

A TR JR B T D 5% 5E
Ek29%1H21H (1) ~FAHFE1H28H (1)

e A & 3 U728 B ST
V2 91 H28H () XOHEF1H29H (H)

AR
T2 941 H31H (k) ~F304E1H30H (k)

AR—=VIRE CORERKILOEE e

*BIG
BoE R A& & R
Yo | 2T rear—a) How R (Fo=t7—n] | < EFE
B feE H
©) 1/28 |[VEILTHNVT ATV 1 %t 2 FCTOUT AT LY 2
® 1/28 |FCA Iy aH v b 3 0% 1 INSTIVH—SV 1
® 1/28 |sv&rLy =Xk 1 xf 6 1.FCHrnyv 2
@ 1/28 | — - TL—RX 1 %t 2 NA T o 22~ 2
® 1/28 |RBZ7A4 7Y 1k 2 %t 1 Ry Tz A A 1
® 1/29 | fMY—--LUyr—r—F 2 %t 3 RILT « Ay 7T — RNy 2
@ 1/29 |[F=r— 4 %t 0 T R T g — K 1
1/29 |Z U ARH)L « )NL R 0 % 3 2T AR — e T 2
©) /29 (Yo7 ho 0 %t 5 7=t 2
) 1/29 |X—=rVU—FC 2 % 0 TYVARNV-TT 4 — 1
() 1/29 |74 —rR-r—y L Vr—x 1 % 2 N— K~y Ted v 2
(D) /29 |7'VA Py J—RAT R 1 %t 1 ATAT A4 TF - FT 0
(B) /29 |(vF4 o2 2 %Xt 1 H—=F 47 « T4 1
/29 |[a¥—r2ba2Fb A7y K 0 % 1 |PN=rRXU— 2
() < UAREROMF M1 3R —2F—20905MTolb, 2] AR —LF—20905MTOAT,
0] Ix#oft (5l1&457 - k) 2R,
W A A% ERc ANk ¢ WRIE] (BIG) I 4>
(M) () (F
1 % 0 0 4,138, 676, 067
2 % 2,462,760 23 0
3 % 37,914 332 0
4 % 9,750 2,571 0
5 % 1,770 13, 843 0
6 =% 570 56, 106 0
& = A5 418l (BIG) I 4 (1)
7e kg () 1,258, 744, 800 3,660, 353, 043
B (m) 4,195, 816
BB (B0 1,026, 630

S E T EE I

(o2 RO21 I'SN) VORI NGl B
o|lo|o|o|o




*100HBIG

o) iZzoft (5I&m) - ER) 2FKT.,

B oE R & & R
N | BT [ 55— 4] AR (7 o=qF—n] | EFE
A H

D 1/28 |VILUF VT AT LT I % 2 FCTOUTATNY 2
@ 1/28 |FCA Iy =X v b 3 %1 INSTIVH—SV 1
® 1/28 |SVELLT 2& v b 1 % 6 1.FCHnv 2
@ 1/28 | — -+ TL—R 1 % 2 IRATILY ¢ S 2\ 2
® 1/28 |RBI7A4 7Y 1k 2 %Xt 1 Ry Tz A 1
® 1/29 |[»"fM¥—-LUr—r—E 2 %t 3 RATT + Av~y 75— Ry 2
©) 1/29 |[Fxb— 4 %t 0 AN 1
1/29 |7 U RZL « XL A 0 x 3 RUTF AL — T 2
© 1/29 |V o¥ 7k 0 xt 5 7 —tF N 2
1/29 |[RX—rU—FC 2 % 0 TURARLTT f— 1
) 1/29 |[7A4—v X =2 LU =X 1 % 2 N— T INEA 2
® /29 |[FLv ARy e )—RT R IS A TATLTF « X 0
® /29 |vFq o7 2 Xt 1 B—=F 4T« T4 1
/29 [@¥F—rnb--=2F ATy K 0 xf 1 N XY — 2
(GE) < UHEOMT 1] IR —2F =005 TOBL, (2] ZA—LF—L2D905MTHOAT,

W ALK WA O YR [A] (BIG) N4
(M) q=) (M)
1 % 200, 000, 000 1 12,412,370
2 %% 850, 234 16 0
3 % 24, 371 223 0
4 % 3,310 1, 654 0
5 % 900 9,039 0
& = 45 A1 (BIG) N4 (1)
je b4&%E () 272,075, 100 1 4 109, 023, 832
BEOL (0) 2,720, 751 2 % 0
BB (B0 546, 947 3 4 0
4 % 0
5 % 0




*BIG1000

o) iZcof (5l&m) - iER) 2%K7.

B oE R & & R
N | BT [ 55— 4] AR (7 o=qF—n] | EFE
A H

D 1/28 |VILUF VT AT LT I % 2 FCTOUTATNY 2
@ 1/28 |FCAvanvaZy b 3 %1 INSTIVH—SV 1
® 1/28 |SVELLT 2& v b 1 % 6 1.FCHnv 2
@ 1/28 | — -+ TL—R 1 % 2 IRATILY ¢ S 2\ 2
® 1/28 |RBI7A4 7Y 1k 2 %Xt 1 Ry Tz A 1
® 1/29 |[»"fM¥—-LUr—r—E 2 %t 3 RATT + Av~y 75— Ry 2
©) 1/29 |[Fxb— 4 %t 0 AN 1
1/29 |7 U RZL « XL A 0 x 3 RUTF AL — T 2
© 1/29 |V o¥ 7k 0 xt 5 7 —tF N 2
1/29 |[RX—rU—FC 2 % 0 TURARLTT f— 1
) 1/29 |[7A4—v X =2 LU =X 1 % 2 N— T INEA 2
(F) < UHREROMHF T iZFR—2F—20905MToBE, 2] AR —LF—20905MTOAIT,

E R | E RV VIRE KAl (BIG1000) fnEi 4
(M) q=p; (M
1 % 10, 618, 248 5 0
2 % 115, 414 115 0
3 % 12,314 1,080 0
4 % 1,300 6, 780 0
= A& it 4 [a] (BIG1000) M 4 (M)
j¢ b4&%E () 176, 970, 800 1 4 0
BEOH (1) 884, 854 2 % 0
BeEERcE (B0 275,016 3 4 0
4 % 0




*mini BIG

o) iZcoft (5l&m) - iER) 2%K7.

B oE R & & R
N | BT [ 55— 4] AR (7 o=qF—n] | EFE
A H

D 1/28 |VILUF VT AT LT I % 2 FCTOUTATNY 2
® 1/28 |FCAvanvaZy b 3 %1 INSTIVH—SV 1
® 1/28 |SVELLT 2& v b 1 % 6 1.FCHnv 2
@ 1/28 | — -+ TL—R 1 % 2 IRATILY ¢ S 2\ 2
® 1/28 |RBI7A4 7Y 1k 2 %Xt 1 Ry Tz A 1
® 1/29 |[»"fM¥—-LUr—r—E 2 %t 3 RATT + Av~y 75— Ry 2
©) 1/29 |[Fxb— 4 %t 0 AN 1
1/29 |7 U RZL « XL A 0 x 3 RUTF AL — T 2
© 1/29 |V o¥ 7k 0 xt 5 7 —tF N 2
() < UREROME M) 1EF—2F—2005HTOBL, 2] Ih—5F—AD905 B TORIT,

e AL WA A WAl (mini BIG) M 4
(M) q=p; (M)
1 % 821, 380 38 0
2 % 22,446 557 0
3 % 4,060 4, 606 0
B = &5 i 4 a (mini BIG) N%E4: (M)
e ba%E (M) 124, 850, 000 1 % 0
BEOL (A) 624, 250 2 s 0
B (B0 209,017 3 A 0




o) iZcoft (5l&m3) - iER) 27

*mini toto A
B oE R & & R
N | BT [ 55— 4] AR (7 o=qF—n] | EFE
A H
D 1/28 |VILUF VT AT LT I % 2 FCTOUTATNY 2
® 1/28 |FCAvanvaZy b 3 %1 INSTINVH—SV 1
® 1/28 |SVELLT 2& v b 1 % 6 1.FCHnv 2
@ 1/28 | — -+ TL—R 1 % 2 IRATILY ¢ S 2\ 2
® 1/28 |RBI7A4 7Y 1k 2 %Xt 1 Ry Tz A 1
() < UREROME M) 3R —2F —2005MTOBE, 2] Ih—AF—209045TOAIT

E R | WA DK WA (mini toto A%H) HN4:
(M) q=p; (M)
1 & 4,215 2,232 0
B = &5 i Ala] (mini toto AFR) MNEE4: (F9)
7o LeE (1) 18,816, 400 1 % | 0
BEOH (0) 188, 164
BeEERE (B0 38, 560
*totoGOALS3
e W A K R

Ll O e £ 1] e
1/98 OQ|VILTrLT7AT LY 1 1

@ |FCTorATLY 2 2
/28 @|FCAransazy b 3 3

@ | TNH—=SV 1 1
/28 ®svErLyary R 1 1

®|1.FCHrv 6 3

(E) < CAEROMH T0) 12907 TDEF— L DM T05] .

(2] 13903 M CTHOEHEF— D8 T2/

(1] X905 TOXF—LDEL T14] .

(3] 13905 MCTHOEHEF— 208 38U L] 257,

A AR g A A R[] (totoGOAL3) G 4

(M) (H) (M)

1 % 197, 661 34 0

2 % 5,040 890 0
BoE A Gt 4 [0] (totoGOAL3) N4 ()
7o bas (1) 22, 413, 500 1 % 0
BN () 224,135 2 % 0

s (Ko 31,852




